@® | HI-SHEAR CORPORATION, U.S.A.  (Patent Holder) U.S. Federal Code 1.D. No. 73197

S TA N DA R D S C 0 M M lT T E E VNPSiI“iAint..nll!:v'irii;ma \'fél"‘c':.'rg'ﬁl';cn &jcunuu U.8. Federal Code 1.D. No. 92215 | KAMAX-WERKE, German (Licensee)
FOR HI-LOK® PRODUCTS IO FASTENNG SvGTiMs, U, onsee) US. Foderal Codo LD. No. SS0T8 | o A OND.GRANAT, Sk o (Licenseo)
2600 SKYPARK DRIVE, TORRANCE, CALIFORNIA 90508 Division of Litton Systems, Inc. (Licensee) U.S. Federal Code 1.D. No. 97928 | TOKYO SCREW COMPARY, Japan (Licensee)

THREAD PER BRITISH
STD 3643 (ISOMETRIC)

WASHER
® ‘\

®

"METRIC" IDENTIFICATION BEAD

THIS AREA PROVIDED
WITH A PREVAILING

LB
gﬁ&%ﬁ?}?; )\ \ TORQUE LOCKING /\
’ FEATURE
S~ I \ w
- o7 COLLAR HEX
] ﬁ - iI's .
c Y
A DIA. D& B 3 1
(REF.) DIA. i (REF.)
DIA. (REF.) I: !
l _*__._:S’I_L:-. ¥
X

L
(REF.,)
o
DI‘\?gH Nrggj THREAD A B DCIA. D[I)A . seien.| L L1 P w X Tzljs,‘\gx:fong UL;EzngZTR
METR-[C) DIA" DIA. DIA. ®EF.) | ®EF.) (gﬁ% %) (REF.) | (REF.) M (REF.) | HEX.) | (REF.) METER MINIMUM
-04 4 M4 x 0. 7-4H5H g:ﬁz i?g 6.0 4.2 5.1 v 11.50 7.2 ig:ig 8.87 ::gg 2.8 2.8-4.0 9600
-05 5 M5 x 0.8-4H5H ig:zg z:gg 6.5 5.2 5.1 11.65 7.4 :g:zg 11.10 lg:l;g 2.9 3.9-5.7 12700
-06 6 M6 x 1.0-4H5H g:gg ::2: 8.1 6.2 6.7 14.25 9.2 izgg 12.12 :;:gg 3.3 9.0-12.5 20700
-08 8 M$ x 1.0-4H5H iz:'ﬁ 2:32 10.6 8.2 8.7 16.75 11.0 i‘;’ ;2 14.40 ig gg 3.3 20.3-26.0 36900
-10 10 M10 x 1.0-4H5H ;g:gz 2: gf; 13.0 10.2 11.4 19.50 12.9 i::zg 15.56 f;:gg 3.3 40.6-47.5 62300
-12 12 M12 x 1.25-4H5H ;:: ‘l’g :: Zg 15.7 12.2 13.1 22.85 15.3 2;:;3 18.90 i; gg 3.9 67.7-76.3 97800

NOTES: 1. Go thread gage penetration shall be 3/4 of one revolution minimum
after thread lock.
2. Dimensions apply after finish. ®
3. For use on sloped surface up to 70 maximum on Hi~Lok standard pins.
® [4.] Break sharp edge.
® (5. Parts made prior to this revision are OK to use.
® 6. Use HL375 for oversize replacement.
MATERIAL: Collar — 303 Se stainless steel per ASTM A~582 and AMS5640.

Washer — "W" = 17-4PH stainless steel per AMS5643, or 17-7PH per VOI-SHAN
AMS5528, or PH15~-7Mo per AMS5520. 1 raised bead indicates
"WA" = 4140 or 8740 alloy steel per MIL-$-5626 or MIL-S-6049. VOI-SHAN identification.
HEAT TREAT: Collar =~ None. 7 ®
Washer - "W'" = Age to H=1025 condition for 17-4PH, age to TH1050
condition for 17-7PH and 15~7Mo per MIL~H~6875. . ®

"WA" = 180,000—200,000 psi tensile per MIL-H-6875..
FINISH: Collar - HLM75DU~( )JA = Solid film lube per MIL~L-8937.
HLM75PB-( JA = Cadmium plate per QQ-P-416, Type II, Class 2,
and cetyl alcohol lube per Hi~Shear Spec. 305.

Washer = HLM75-( )PBWA = Cadmium plate per QQ-P-416, Type II, Class 2.
asher ) = Cadmium plate per QQ-P-416, » Cla STANDARD PRESSED STEEL
HLM75-( )WU = Pagsivate per Hi-Shear Spec. 258.
SPECIFICATION: Hi-Lok Product Specification M345 2 raised beads indicate STANDARD
: = roduc cation : PRESSED STEEL identification.

CODE: Dash number indicates nominal thread size in 1 mm. -
Code letter "A" following dash number indicates Hi~Lok collar only.
Code letters "W" or "WA" following dash number indicate swivel washer only.
See "Finish" note for explanation of code letters.

EXAMPLE: HLM75DU=08AWU = M8 x 1.0 Hi~Lok collar with HLM75-08 WU swivel washer.
U.S. patents 3,138,987; 3,390,906; and foreign patents.

HLM75DU-08A = M8 x 1.0 Hi~Lok collar with solid film lube. U.S. patents 3,138 x

HLM75-08WU = 8 mm size swivel washer with passivate. ;‘?_"su‘l ““’c HL o Registered Trademarks of
DATE BY Tme DRAWING NUMBER

| hi-Jok
DRAWN | &-27-77 ‘jnl l' O CO'.I-AR (METR'C SERIES)
2. - SELF-ALIGNING COLLAR ASSEMBLY HLM75
werRoveD | -7/ @@ (STAINLESS STEEL COLLAR — STAINLESS STEEL OR ALLOY STEEL WASHER) ‘
1 mm GRIP VARIATION — TENSION APPLICATION
@ REVISION 5=7=80 D.P.S.

21501 ' © 1980, Hi-Shear Corporatian



	Status: UNCONTROLLED COPY


